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ENGLISH VERSION

1 Explain Demand Elasticity with formula.
OR
1 Explain Supply elasticity with formula.

2  Explain the market equilibrium with diagram.
OR

2  Explain : Average revenue and Marginal revenue.

3 (@) The demand law of a commodity is p = aJ;+ b.

When the price of a commodity for 1 unit, the demand
is 100 units. When the price increase to 7 unit, the
demand is 16 units. Obtain the values of constant a and
b. Obtain the form of demand function. Obtain the
demand when price is 4 unit.
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The price of sugar increases from 8 to 12 the
demand decreases from 10,000 to 8,000. Obtain demand
elasticity.

OR

When the price of a commodity is 4, the supply

of a commodity is 200 units. When the price increase
to 6, the supply becomes 400 units, obtain supply
elasticity.

If the demand function is x = 72 — 9p find price

for the maximum revenue.

Find the maximum and minimum values of the
functions F(x) = 2x3 — 6x2 — 18x + 20.

2
The cost function of a firm is C = )26—5 — 6 x + 400.
Find the output for which the cost is minimum. Calculate
this minimum cost.

OR

Explain : Types of monopoly.
For a company demand function

2
X
P=10 -3 and cost function C = ;—0+40. Obtain the

production to get maximum profit.

5  Answer any two :

(1)
@)
(3)
(4)

Explain : Law of demand

Explain : Law of supply

Explain : Maximum and minimum values of function
Explain the maximum revenue with example.
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